| Efficiency vs Dxy |

0.05¢

< - : : : : : : : : :
o) - . . . . . . . . .
@QOAS it e
< I T R
0 S JRGAas % 0 £ SIS NS SE S
K S S S I SRS U S
]
KT S A A A | AT A A
111 N R S S S
0028f oo b
002l
oo15f o gl

0
oaogf- i ol
o+

Rat

=
!

09 56-16-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_V0001_R000000001__Global _mkFit1000__RECO

| Efficiency vs Dz |

—— DQM_V0001_R000000001__Global__mkFit100dt_ RECO

N 0.5
= H H H H H
D.45F - Feeeeeeeees Peeeeeeeee Beeeeeeeen frreeeeseen e
> . . . . .

Q - : : : : :
c SRR T peeneeeeees A Preeseenteeeeeeees
Q 0'4: : : : : :
Q r : H H . .
.35 proneerene Froverereees Frrereeeener ARARERRR A
O o : : : : :

-
0.25 l l l
0.2
0.15
0.1

....................................................................

0.05
o+

Rati

T T T [ T T T T [TTTT[TT T [ TTTT[TTTT[TTTT]

10 20 30
TP dz (cm)

|
w
o

I
o

|
|
o
o

0.95



	Contents
	Page 1


